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i 0)) (B) (€)= (A)+B) ©) /A
1 HBINHEEE 48, 416 A 1,49 46, 921 96. 9%
+ K 35, 605 A 1,065 34, 540 97. 0%
JEERIK PERD 12, 811 A 430 12, 381 96. 6%
2 BEMNAHEEE 10,416 2,719 13,135 126. 1%
+ K 8, 306 2, 248 10, 554 127. 1%
JEERIK PERD 2, 110 471 2, 581 122. 3%
3 EEZZ=Xa1EE 10, 268 0 10, 268 100. 0%
+ K 8, 181 0 8, 181 100. 0%
FEMRKEETR 2, 087 0 2, 087 100. 0%
4 HFEEE 9,096 A 49 9,047 99. 5%
+ K 9, 046 A 49 8, 997 99. 5%
AR EETR 50 0 50 100. 0%
5 RAEXE 673 157 830 123. 3%
+ K 656 133 789 120. 3%
AR EETR 17 24 41 241. 2%
6 KEEIRBEE 6, 180 1 6, 181 100. 0%
+ K 3,909 0 3, 909 100. 0%
AR EETR 2,271 1 2,272 100. 0%
a Hi 85, 049 1,333 86, 382 101. 6%
+ K 65, 703 1, 267 66, 970 101. 9%
JEERIK PERD 19, 346 66 19, 412 100. 3%
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